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———— .
following using simple or compound interest: '

o invest $8000.00. His im!:k offers an investment aption that earns simple interest at
o per year, How much interest would Jim earn on his investment after 6 years?

s to invest $4500.00. His bank offers an investment aption that earns interest
ded quarterly at a rate of 3. 2% per year for 7 years

Ava’s bank offers a simple interest rate of 7% per annum. How much interest would Ava eam
on her investment of $6500.00 after 3 months?
4. Ryan wanis to invest $650.00, His bank offers an investment option that earns interest

ﬁmpnunﬂe_lliul}n__'J thly.at a rate of 6,3% per year for 5 years, ’ °

3. Ben wants to invest $2930.00. His bank offers an investment option that earns interest
compounded biweekly at a rate of 3.9% per year for 7 years

Using the simple interest equation calculate the unknown  (1=Prt)

The interest earned on a deposit is $89.00 with an interest rate of 4.2% per annum. If the
‘money was invested for 4 years, what is the principal?

interest earned on a deposit is $210.00 with an interest rate of 6.5% per annum. If the
vey was invested for 6 years, what is the principal?
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Ben wants to invest $2950.00. His bank offers an investment option that eamns interest
compounded biweekly at a rate of 3.9% per year for 7 years.

Using the simple interest equation calculate the unknown — (I=Frt)

6. The interest earned on a depositis $89.00 with an interest rate of 4.2% per annum. If the
money was invested for 4 years, what is the principal?

The interest earned on a deposit is 5210.00 with an interest rate of 6.5% per anaum. If the

money was invested for & years, what is the principal?

The interest earned on a deposit of 55000.00 is $78.00. If the money was invested for 7 years,
i
what is the interest rate?

g, The interest earned on a deposit of $6250.00 is $92.00. If the money was invested for 4 years,
3 what Is the interest rate?

.minterest earned on a deposit of $4800.00 is $50.00 with an interest rate of 3.95%. How
‘many years was the money invested?
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